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Math 11 Quadratics #2 — Review #1 e M TIONS

a) I b) 1II c) III

1. Which quadrant is the vertex of (y +3)=(x= 2}1 located in? II T I
. - >

Vertex ¢ H l L
(2,-3)=> QUADRANT T&

2. Which quadrant is the vertex of % (y —2) = (x + 3)° located in? -‘\Je‘(' \e X 3
. 4 2= G (-3, 2)=>QUADRANT L
. 8
d) y=;x+1

—_l= =L %2



4. Rewrite the following equation in transformational form: y = é x-2%+1

GT} 3-D=x-2 B Ie+D=x-2¢ oi@G-D=x+2? &3@+)=x-1)

= -Lw. -2) $F)
\é o 2 (TF)
S YREWI_H': »: 2) l

e following equation in general form: y = 2{:-(— 1)°+3

d) y=2x3-2x+5 . b) y=23+5  ¢) y=2x*—3 @y=2x2—4x+9
Y= ‘}.Ut 1)2+3 (SF) N = 2x*=2x-2x+2+3
= 200003 s o w2 - 4 x +S(EF)
Y
6.

= @x-2)x-1)+3
Where is the axis of symmetry located in the following parabola: 2(y—1)=(x— 3)
2) x=2 b) x=1 Hy=1 vertexs (3,1

- AXS G?Syﬂame%‘tj e X=3
What would be the range of the following quadratic function: -2(y—1)= (x+17 Vevtex o'L"l I)
{yly2-2yeR} b {x|x<-1, xER}@{y}}ffil ysrf})d){ X|x21,xeR} Romge s
*¥ OpPens Downward . viys 'NER}

nsl




8. Given this graph and its equation: i (y-k)=(x- h)? SKETCH:
H#8 & #9
What would happen if “h” was changes? The graph would:
C:;) move sidew@ b) move up or down -
¢) be reflected in the x-axis d) be stretched

9. What would happen if “k™ was changed? The graph would:
a) move sideways Q} move up or down Y

a® ¥

¢) be reflected in the x-axis d) be stretche(



10. Sketch the graph of : y=2(x-1)*-10

e — m—— >
3 2 <J-K-q =L -5-94~-3 - - I 23 45¢71%19
— B o K 4-3-2 EL,, o1 3

K
What is the Domain? -Z?L' X E R }

What is the Range? { l 5 L (@ (j& R}




a) (12,0)

c) (6,4) d) (8,-4) 4

11. The x-interceptéliab\?la are (2, 0) and (10, 0). Which of the following points could be the vertex?
b) (6,-4)

* Since the vertex will be Wal\f  SKETCH: \

way in between the x-intevceptss |
A'{Etﬂ_ﬁf’,(}p X-Valuess 2+4\0=12=¢(
2 2

va
N

(6,4)

=> Vertexo (GJ ?

-

X% 2 possible  soluthons = checK SHeteh §

12. The x-intercepts of a parabola are I-il i i and (11, 0). Which of the following points could be the vertex?

a) (8,-4) b) (7, 3) d) (4,-4) A
AVETCLSE ofF X-valuese A (d,4)
Te3tll=% =4 ) N,
-3 2 \
=% Vertex o Y o 2 / )

X 2 possible solutiong—> cheek tSP’lé{-czhL



13. Rewrite the following equation in transformational form: y = 3(x —1)? +2
1 1
a) (y+2)=3(x—1y b) s(y-2)=(x-1) ) o) (y-=;(x-1) & 3y-2=(x-1)’

N = SCX-1)%4+2
'\}"-2 = 3(X"’“\)2
1L (y-2)= (=) (%)

3

14. Rewrite the following equation in transformational form: y =3x"—12x + 5
(» §u+v}=<x-_®m 3(y-1=(x=2" ¢ -3(y=-D=(x+2) I y+)=(x=7
V= 3x=12x +5 (6F)

Y-5= 3Xx*-12x

y- D= B(x*-Hx) | |

y-5+12 = 3(x>=Hx+4)

+1 = d(x-2)*
L (yr1)= (x-2)* (TF)




15. Place the following functions in both standard and transformational form:
a) y=x>+12x+40 b) y=-2x"+8x-10

y-40= X 2p12x O YHIO= T2xA8X
M 4% =(K 2 12X +36) YHO= ~20¢3-HX)
g o= (XH6)? Y-8 = -2 (X )
Y . v 42 = -2 (x-2)*
SRS (HE)™ 1 (5p) N = —2(X~D=2
(75) (y-1) = CXHE)" el +2) = (x-2)*
2

2, 14 i
b= X 12x d) = —2x*+Hx-l2
d)\;!--— (X 4X) vl = "?-’Elf;‘qq" )
N T i) = =R (X*-1X
pig = SO YEUzE Q_-Q,Cx"—“lx-#‘c‘i»i)
N ¥2)2 YT V= _ q),)%
(SFINT Gk kb =S Uy, = - (x—2)*

(re) L(y+12) "(’”2’)2\1’:; =2 (x'”fﬂ-)""_*j'_'m} hgroest
N L-SrF) L ya)= (7 TR) IErTh
pr 2

i
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